
B. A. 5th Semester (Honours) Examination, 2020 (CBCS) 
Subject: Sociology 
Paper: DSE 1A/1B 

 
Time: 3 Hours                                                                                                  Full Marks: 60 

The figures in the right-hand margin indicate full marks. 
Candidates are required to give their answers in their own words as far as practicable and 

upload answer sheets following University rules 

দিǘণ Ƶাȭʆ সংখƟাʟিল Ƶেɬর পণূŪমান িনেদŪ শ কের 

পরীǘাথʗেদর যথাসɕব িনেজর ভাষায় উȑর িদেত হেব এবং িব˞িবদƟালেয়র িনয়ম অনুসরণ 
কের উȑরপƯ আপেলাড করেত হেব। 

Answer Either DSE 1A or DSC 1B 
 

DSE 1A  
Social Stratification 

 

1. Answer any six of the following questions. Write each answer within 200 words: 6x5=30 

িনɎিলিখত ĺয ĺকান ছয়ǅ Ƶেɬর উȑর দাও। Ƶিতǅ উȑর ২০০ শেɆর মেধƟ িলখেত হেব। 

(a) What do you mean by ‘open-system of stratification’? Give an example.    
       

ʅরিবনƟােসর ‘উȶǏু-বƟবʆা’ বলেত তুিম কী ĺবাঝ? একǅ উদাহরণ দাও।      

                          
(b) What did Marx mean by class? 

মাǙŪ ĺƽনী বলেত িক ĺবাঝােত ĺচেয়েছন?  

     
(c) What did Weber mean by status group?  

ওেয়বার মযŪাদা ĺগাɵী বলেত িক ĺবাঝােত ĺচেয়েছন? 

  
(d) In what sense caste is an ideology? 

ĺকান অেথŪ জাত একǅ মতাদশŪ?  

 
(e) What is meant by politicization of caste? 

জােতর রাজনীিতকরণ বলেত িক ĺবাঝ? 

 



(f) Discuss two major changes in the nature of working class today. 

সাɏিতক কােল ƽিমক ĺƽণীর মেধƟ দǅু Ƶধান পিরবতŪ েনর উেɨখ কর। 

 
(g) Distinguish between inter-generational and intra-generational mobility. 

আȭঃ-Ƶজȶগত ও অȭঃ-Ƶজȶগত সচলতার মেধƟ পাথŪকƟ কর।    

  
(h) How does gender impact upon social mobility?  

িলǩ িকভােব সামািজক সচলতার উপর Ƶভাব ĺফেল?  

 

2. Answer any three questions.  Write each answer within 400 words:     3x10=30                                             

    ĺয ĺকান িতনǅ Ƶেɬর উȑর দাও। Ƶিতǅ উȑর ৪০০শেɆর মেধƟ িলখেত হেব।      

(a) Write an essay on the functionalist analysis of social stratification.    
       সামািজক ʅরিবনƟােসর কাযŪকরী িবেɮষেণর উপর একǅ রচনা                  

 
(b) Write an essay on caste in neo-liberal India.      

       নবƟ-উদারৈনিতক ভারেত জােতর উপর একǅ রচনা ĺলখ।      

  
(c) How does class influence lifestyle?                    

      ĺƽণী িকভােব জীবনৈশলী ĺক Ƶভািবত কের?            

 
(d) How does caste impact upon gender-based experience?  

      জাত িকভােব িলǩিভিȑক অিভǷতার উপর Ƶভাব ĺফেল?                

 
(e) Discuss the role of education as an agent of social mobility.    

      সামািজক সচলতার মাধƟম িহেসেব িশǘার ভূিমকা আেলাচনা কর।                                

 
 
 
 
 
 
 
 
 
 
 



DSE IB  
Social Issues in India 

 
1. Answer any six of the following questions. Write each answer within 200 words: 6x5=30 

িনɎিলিখত ĺয ĺকান ছয়ǅ Ƶেɬর উȑর দাও। Ƶিতǅ উȑর ২০০ শেɆর মেধƟ িলখেত হেব। 

(a) What are the causes of communal violence in India? 

      ভারেত সাϸদািয়ক িহংসার কারণვেলা িক? 

(b) What are the major problems of religious minorities in India?  

      ভারেত ধমλয় সংখҝালঘুেদর ϕধান সমসҝাვিল কী কী? 

(c)  How would you explain youth unrest in India? 

      ভারেত যবু অসেоাষেক তΦ িম কীভােব বҝাখҝা করেব? 

(d)  How is ‘dowry’ defined by Indian law? 

      ভারতীয় আইন ‘έযৗতΦ ক’έক কীভােব সংϡািয়ত কের? 

(e)  What are the indicators of child abuse? 

        িশზিনয κাতেনর সূচকვিল কী কী? 

(f)  What are salient features of current population policy of India? 

      ভারেতর বতκমান জনসংখҝানীিতর ϕধান ίবিশѭҝვিল কী কী? 

(g) What challenges do our migrant labourers face today? 

      আমােদর পিরযায়ী Ϝিমকরা আজ έকান চҝােলেПর মুেখামুিখ? 

(h)  What are the consequences of rural to urban migration in India? 

       ভারেত ςাম έথেক শቍের অিভবাসেনর পিরণিত কী কী? 

 

2. Answer any three questions.  Write each answer within 400 words:     3x10=30                          

    ĺয ĺকান িতনǅ Ƶেɬর উȑর দাও। Ƶিতǅ উȑর ৪০০শেɆর মেধƟ িলখেত হেব।  

(a) Write a note on the factors that promote ethnicity in the Indian context.  

      ভারতীয় έϕϠাপেট নকুৃলতা বΝৃдেত সহায়ক কারণვিলর িবষেয় একΜট Μটকা িলখ।    

(b)  Examine the problem of unemployment in contemporary India. 



      সমসামিয়ক ভারেত έবকারেЯর সমসҝাΜট পরীϠা কর। 

(c)   To what extent the legal ban on child labour in India could control this problem? 

       ভারেত িশზϜেমর উপর আইনী িনেষধাϡা এই সমসҝােক কত দরূ িনয়ϴণ করেত έপেরেছ? 

(d)   Is population a liability or a dividend in the Indian context? Explain? 

       জনসংখҝা িক ভারতীয় έϕϠাপেট একΜট দায় না আশীব κাদ? বҝাখҝা কর। 

(e)    Do you think that the extent of poverty has been enhanced in India today? Give reasons for   
your answer. 

 তΦ িম িক মেন কেরা έয ভারেত আজ দািরেϒҝর ϕাবলҝ বΝৃд έপেয়েছ? έতামার উЫেরর ѾপেϠ 
যΝুЅ έদখাও। 

 
 
 
 
 
 
 

__________________________ 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 


